OPEN OPPORTUNITIES (index.php) AWARD NOTICES (awardnotice.php)

Create Notice

OPEN OPPORTUNITIES

*Kindly use Google Chrome Browser	
Input BidID or Procuring Entity or Title	Search

										Agency Link
1	42979	PHIL COUNCIL FOR IND., ENERGY AND EMERGING TECH. RES.& DEV.	PROCUREMENT OF MOBILE PEDESTAL 2 PCS, FILING CABINET 3 PCS, OFFICE CHAIR 2 PCS.	Php 56,000.00	Shopping	Fumiture	2020-09- 21 10:40:00	2020-09- 28 10:00:00	LEOD MARTIN B. PRESADO	leodmartin.presado@pci (leodmartin.presado@pr
2	42257	PHIL COUNCIL FOR IND., ENERGY AND EMERGING TECH. RES.& DEV.	PROCUREMENT OF LAPTOP FOR FAD	Php 70,000.00	Shopping	Information Technology Parts & Accessories & Perip	2020-09- 21 08:16:00	2020-09- 28 10:00:00	LEOD MARTIN B. PRESADO	martinpresado.pcieerd@ (martinpresado.pcieerd(
3	42931	PHIL COUNCIL FOR IND., ENERGY AND EMERGING TECH. RES.& DEV.	PROCUREMENT OF WIRELESS VERTICAL ERGONOMIC OPTICAL MOUSE 21 PCS, VOICE RECORDER DIGITAL 1 UNIT, PORTABLE HARD DISK DRIVE 2TB 1 PC, CARTRIDGE OF HP 507A BLACK 7 PCS.	Php 99,000.00	Shopping	Information Technology Parts & Accessories & Perip	2020-09- 21 10:31:00	2020-09- 28 10:00:00	LEOD MARTIN B. PRESADO	leodmartin.presado@pci (leodmartin.presado@pc
4	42905	PHIL COUNCIL FOR IND., ENERGY AND EMERGING TECH. RES.& DEV.	PROCUREMENT OF DESKTOP COMPUTER FOR ITDD (CPU: 8 core, 8 threads, 12MB cache, up to 4.7 GHz Storage: 256GB M.2 PCIe NVMe Solid State Drive + 1TB 7200 rpm 3.5" SATA Hard Drive RAM: 8GB (8GBx1) DDR4 266	Php 70,000.00	Shopping	Information Technology Parts & Accessories & Perip	2020-09- 21 10:00:00	2020-09- 28 10:00:00	LEOD MARTIN B. PRESADO	leodmartin.presado@pci (leodmartin.presado@pc

"The PS-PhilGEPS team is not responsible for any typographical errors or misinformation presented in the system. The mPhilGEPS only displays information provided for by its clients, and any queries regarding the information provided

	PHILIPPINE COUNCIL FOR INDUSTRY 4th and 5th Level, Science Heritage		VG TECHNOLO			IENT
Departmer	nt/ Division: Office of the Executive Di	rector (OED)	PR. No.: 184-	20-5503	Date: 700 27, 202	20
Section / P	Project: Office of the Executive Directo	r	SAI No.:		Date:	
Item No	Item Descriptio	n	Quantity	Unit	Unit Cost	Total Cost
1	Mobile Pedestal Steel, 3 Drawer w/ centralized lock w caster and center wheel, color black 560mm D x 650mm H		2	piece	5,000.00	10,000.0
2	Extension Cord Set 3 Gang Outlet Extension Cord with multiple socket and usb port Code #25 of APP Non-CSE 2020		2	piece	1,000.00	2,000.0
					TOTAL	12,000.00
Purpose: E	Enhancing onelab for global competitiv		4			
Charge to		ERD-GAA IOOE O		⊠ Project	Funds	
Mode of Pr	rocurement: (Please check one) ⊠Alternative Mode	Public Bidding	□Cash /	Advance		
	and the second	quested by:		Approv	ed by:	
Signature:			an ag an	A)	
Printed Na		tine Marie Manabat Pa	nga		Cabangon	
Designatio	on: Adn	ninistrative Aide VI		IChief Ac	lmin Officer	

4		PURCHASE RE DUSTRY,ENERGY AND EMERGI Heritage Bldg.,DOST Compound, G	NG TECHNOLO			1ENT	
Departmer	nt/ Division: Finance & Adminis	strative Division (FAD)	PR. No.: 184-2	20-5542	Date: August 10,	2020	
Section / P	roject: Accounting	-	SAI No.:	Date:			
Item No	ltem De	scription	Quantity	Unit	Unit Cost	Total Cost	
1	Filing Cabinet, Steel Later Filing Cabinet, Steel Lateral, powder coating finish, size: N 1060mm H Code #25 of APP Non-CSE 20	3 Drawer w/ centralized lock N900mm W x 450mm D x	3	piece	10,000.00	30,000.0	
			X		TOTAL	30,000.00	
Purpose: F	iling Cabinets for office use (A	ccounting Section) chargeable	e against proje	ct funds (in	direct cost)		
Charge to		□PCIEERD-GAA □MOOE □CO	□MOOE		☑ Project Funds		
Mode of Pr	ocurement: (Please check one ⊠Alternative Mode	□Public Bidding	□Cash A		rod hvi		
Classel		Requested by:		Approv			
Signature: Printed Na		Marissa G. Dalay			A Cabangon		
INTERTOR NO	111 1 2.	Inalissa G. Dalay	Marissa G. Dalay Accountant III				

	PHILIPPINE COUNCIL FOR INDU. 4th and 5th Level, Science He	PURCHASE RE STRY,ENERGY AND EMERGI eritage Bldg.,DOST Compound, C	NG TECHNOLO			IENT	
Departme	nt/ Division: Finance & Administr	ative Division (FAD)	PR. No.: 184-	20-5542	Date: August 10, 2020		
Section / F	Project: Accounting	а ¹	SAI No.:		Date:		
Item No	Item Desc	ription	Quantity	Unit	Unit Cost	Total Cost	
Item No	Item Desc Filing Cabinet, Steel Lateral, Filing Cabinet, Steel Lateral, 3 powder coating finish, size: N91 1060mm H Code #25 of APP Non-CSE 2020	, 3 Drawer Drawer w/ centralized lock 00mm W x 450mm D x	3	Unit	Unit Cost 10,000.00	30,000.00	
						14	
					TOTAL	30,000.00	
	iling Cabinets for office use (Acc	ounting Section) chargeabl	e against proie	ct funds (in	11.276 - 272.074	ensetheta 162 (alfon 18	
Charge to:		PCIEERD-GAA		Project			
Mode of P	rocurement: (Please check one)			duanca			
	Alternative Mode	Public Bidding Requested by:	□Cash A	Advance Approv	ved by:		
Classifier		nequested by:		Apploy		1	
Signature		Martine C. Dala		Conia D	Cabangan		
Printed Na		Marissa G. Dalay			Cabangon		
Designation	on:	Accountant III		ICNIET AC	dmin Officer		

19.3

1 miles

• •	, PHILIPPINE COUNCIL FOR INDUSTR 4th and 5th Level, Science Heritag		ING TECHNOLC			1ENT	
Departme	nt/ Division: Finance & Administrative	e Division (FAD)	PR. No.: 184-20-5533		Date: August 2, 2020		
Section / P	Project: Accounting		SAI No.:		Date:		
Item No	Item Descripti	on	Quantity	Unit	Unit Cost	Total Cost	
1	Office Chair, Ergonomics with armrest, wheels		2	piece	8,000.00	16,000.00	
	Code #25 of APP Non-CSE 2020						
					TOTAL	16,000.00	
Purpose: f	or WFH Use						
Charge to	o: 🗆	EERD-GAA MOOE CO		🛛 Project	Funds		
Mode of P	rocurement: (Please check one) Malternative Mode	□Public Bidding	□Cash	Advance			
	Re	equested by:		Approv	ved by:		
Signature	1	-fl-		- M			
Printed Na	Service Se	Micaiah C Alcantara counting Analyst			Cabangon dmin Officer		
Designation 1 / 1		counting Analyst		Ciner Ad	A		

	PHILIPPINE COUNCIL FOR IN 4th and 5th Level, Science	PURCHASE IDUSTRY,ENERGY AND EME te Heritage Bldg.,DOST Compoun	RGING TECHNOLC			IENT	
Departme	nt/ Division: Finance & Admin	istrative Division (FAD)	PR. No.: 184-	20-5533	Date: August 2, 2020 Date:		
Section / P	Project: Accounting		SAI No.:				
Item No	Item D	escription	Quantity	Unit	Unit Cost	Total Cost	
1	Office Chair, Ergonomics with armrest, wheels		2	piece	8,000.00	16,000.00	
	Code #25 of APP Non-CSE 2	2020					
					TOTAL	16,000.00	
Purpose: fo	or WFH Use						
Charge to	D:	DPCIEERD-GAA MOOE CO		🛛 Project	Funds		
Mode of Pr	rocurement: (Please check on ⊠Alternative Mode	Public Bidding	□Cash /				
Signature		Requested by:		Approv	ed by:		
Signature: Printed Na		Jijo Micalah C Alcantar		Sonia P	Cabangon		
Designatio	production of the second se	Accounting Analyst			dmin Officer		
1/1		Incounting Analyse			A		

5 . F

-

Sec. 14. 14. 1 PURCHASE REQUEST PHILIPPINE COUNCIL FOR INDUSTRY, ENERGY AND EMERGING TECHNOLOGY RESEARCH AND DEVELOPMENT 4th and 5th Level, Science Heritage Bldg., DOST Compound, Gen. Santos Ave,. Bicutan, Taguig City, Metro Manila PR. No.: 184-20-5533 Department/ Division: Finance & Administrative Division (FAD) Date: August 2, 2020 SAI No.: Date: Section / Project: Accounting Quantity Unit Unit Cost Item No Item Description Total Cost Office Chair, Ergonomics 2 8,000.00 16,000.00 1 piece with armrest, wheels Code #25 of APP Non-CSE 2020 Manfi, Paki-chuit ha lang Kasi ang nabili hani hila Elaine at Meniss for WH evgo-chain ang less than 3/k lang. M gow 6,000.00 Purpose: for WFH Use DPCIEERD-GAA Project Funds **MOOE** Charge to: □C0 Mode of Procurement: (Please check one) □Cash Advance ⊠Alternative Mode □Public Bidding **Requested by:** Approved by: Signature: W Sonia P Cabangon Jijo Micaiah C. Alcantara Printed Name: Chief Admin Officer Accounting Analyst Designation: A 1/1